2018/9/6 01 55—EE(EHH 4R R - TS RF {E{RRE:

F—EHE R

1.15[5
(ROR (AR 2 R (50N AE BA(E AV ENAEEE. - o m] SRR & TR T -
ANE T B AR

EERSRINEEARE S DU > i 2 B
— ~ EERRHEE AR
PROR (AR 2 R (50N E BA(E OV ENIEEE. -t m] F AR R A RO T -

/
1

FEFE R 2E B R [ bR R 25

1 AR R S BB RLR RTR  RE ] oy oy =R
(1) TEMJEZ {Edma

(2)K B R

(3)F R 4R

AR T TR 5B R TR T
= i SIS

SIS BRSBTS -
PRON (R ELER A S RUERRR AR - & SRS RIS (IR A A0 T — Lo i 2 BOSUE

ya

o BE R A
Ty i B A

Iy i B RS

T iR E
FTDAERSRIEIL T » (i e A 7 i 2 B RS -

1.2 ER e R
BT R R SE RV - BRI A e IR -
A% B = (I
TR - (TR LR MR AR 2
— - g
AT RIS SRR - B R E R ey IR -

http://www.ts-corp.com.tw/reference/01

1/8



2018/9/6 01 55—EE(EHH 4R R - TS RF {E{RRE:
IS EERLR - NS EESERT G0 MeY - Pl REFEAR TdziV BN - WL T B KRS EER -

dV(z)/dz=ZI(z) (1-3a)
di(z)/dz=YV(z) (1-3b)
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20 CLS:PI=3.1415926#:LOCATE 2,25:PRINT” CONTENTS”

30 LOCATE 4,5:PRINT” Z(Y)-Y(Z)-+++++++-vve- (1)”

40 LOCATE 4,35:PRINT” ZL(YL),L-Zin(Yin)-++----- 2)”
50 LOCATE 6,5:PRINT” Zin(Yin),L-ZL (YL)+++++++-- 3)”
70 LOCATE 6,35:PRINT” Z-Ref.Coef.wwweeeeevvee (4)”

80 LOCATE 8 ,5:PRINT” Ref.Coef.-Z+wwwweeeersn (5)”

90 LOCATE 8,35:PRINT” VSWR,Dmin-ZL-++++++++ «-- (6)”
100 LOCATE 10,5:PRINT” ZL-VSWR, Dmin-«++++++-- (7)”

110 LOCATE 10,35:PRINT” SHUNT STUB MATCHING--- ---- (8)”

120 LOCATE 12,5:PRINT” SERIES STUB MATCHING:------ 9)”

130 LOCATE 12,35:PRINT” DOUBLE STUB MATCHINGS------ (10) ”

160 LOCATE 20,5:INPUT” YOUR SELECTION”;I

170 ON I+1 GOTO 1000,180,210,240,270,300,350,400,430,450,600
180 CLS:LOCATE 8,4:PRINT” Z(Y)-Y(Z) INTERCHANGES”:PRINT

190 COSUB 700:GOSUB 800:GOSUB 710

200 PRINT”Y(Z)=" R:”+j(”:X:”):GOTO 720

210 CLS:LOCATE 8,4:PRINT” ZL(YL),L-Zin(Yin) CALCULATIONS”:PRINT
220 GOSUB 700:PRINT:INPUR”L= ";L:GOSUB 910:GOSUB 710

230 PRINT”Zin(Yin)=";R;”+j(”;X;”)”:GOTO 720

240 CLS:LOCATE 8,4:PRINT” Zin(Yin), L-ZL(YL) CALCULAYIONS”:PRINT
250 GOSUB 700:PRINT:INPUT” L=";L:L=-L:GOSUB 910:GOSUB 710

260 PRINT”ZL(YL)=";"R;”+j (”;X;”)”:GOTO 720

270 CLS:LOCATE 8,4:PRINT” Z-Ref.Coef. INTERCHANGES”:PRINT

280 GOSUB 700:R=H:X=G:GOSUB 810:GOSUB 710

290 PRINT”Ref.Coef.=";GA;”exp(”;T*180/PI;”).”:GOTO 720

300 CLS:PRINT” Ref.Coef.-Z INTERCHANGES”:PRINT

310 INPUT”’Ref, coef.(MOL,phase)=";G,H

320 FI=PI*H/180:R=-G*COS(FI):X=-G*SIN(FI)

330 GOSUB 810:R=-P: X=-Q:GOSUB 710

340 PRINT” Z=";R;”+j(”;X;”)”:GOTO 720

350 CLS:LOCATE 8,4:PRINT” VSWR,Dmin-Z INTERCHANGES”:PRINT
370 INPUT”VSWR,Dmin=";S,L:H=1/S:G=0:L=-L:GOSUB 910:GOSUB 710
380 PRINT” ZL=";R;”+j(”;X;” )”:GOTO 720

400 CLS:LOCATE 8,4: PRINT” Z-VSWR,Dmin INTERCHANGES”:PRINT
410 GOSUB 700:R=H:X=G:GOSUB 810:GOSUB 710

420 PRINT”VSWR=";S, "Dmin=";L:GOTO 720

430 CLS:LOCATE 2,4:PRINT” SHUNT SINGLE-STUB MATCHING”:PRINT
440 GOSUB 950:51=SQR(S):GOSUB 955:52=51/(1-S):GOSUB 970:GOTO 720
450 CLS:LOCATE 2,4:PRINT” SERIES SINGLE-STUB MATCHING”:PRINT
460 GOSUB 950 :S1=1/SQR(S):GOSUB 955:52=(1-5)*S1:GOSUB 970:GOTO0 720
600 CLS:LOCATE 4,4:PRINT”DOUBLE-STUB MATCHINGS”:PRINT

605 LOCATE 8,4 :INPUT”ZL=RC+jXL=";HG:PRINT

610 INPUT” d1.d2=";L,D2:EE=2*PI*D2:5=1/(SIN(EE))"2

615 GOSUB= 910:H=R:G=X:GOSUB 800:E=TAN(EE)

620 IF R>=S THEN CLS:LOCATE 10,6:PRINT”NO SOLUTION!”:GOTO 720
625 A1=(1-X* E)*2-R+E*E*(R-1)*R:B=2*(1-X*E)*E:C=E*E

630 A=SQR(B*B-4*A1 *C):Y1=-(B+A)/(2*A1):Y11=-(BA)/(2*A1)

640 DO1=ATN(Y1)/2/PI1:DO2=ATN(Y11)/ 2/P1:GOSUB 960:L1=D0O1:L11=D02
660 Q1=1+E/Y1-X*E:Q2=X-1/Y1+E:D11=1+E/Y11-X*E:D22=X-1/Y11+E
665 Y2=(Q1" 2+R*R*E*E)/(Q1*Q2-R*R*E)

670 Y22=(D11"2+R*R*E*E)/(D11*D22-R*R*E)
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675 DO1=ATN(Y2)/2/PI:DO2=ATN(Y22)/2/P1:GOSUB 960:L2=D0O1:L22=D02
690 GOSUB 710:PRINT” L1=";L1;” L2="; L2:PRINT

695 PRINT” L1'=”;L11;” L2'=";L.22:GOTO 720

700 INPUT”Z(Y)=R(G)+jX(B)=";H,G:RETURN

710 LOCATE 15,5:PRINT” RESULTS:”:PRINT:RETURN

720 LOCATE 22,1:INPUT” PRESS 10R 0 TO CONTINUE OR NOT.”;|
730 ON [+1 GOTO 1000,20

800 C=H*H+G* G:R=H/C:X=-G/C

810 P=(R*R+X*X-1)/((R+1)"2+X*X):Q=2*X/ ( (R+1)"2+X*X)

820 GA=SQR(P*P+Q*Q):S=(1+GA)/(1-GA):K=(1-5*R)/ X

830 LL=ATN(K):IF K<O THEN LL=LL+PI:L=LL/2/PI

832 L=LL/2/PI

840 IF Q=0 AND P=0 THEN T=0:GOTO 900

850 IF Q=0 THEN IF P>0 THEN T=0 ELSE T=PI:GOTO 900

860 IF P=0 THEN IF Q>0 THEN T=PI/2 ELSE T=PI:GOTO 900

870 T=ATN(Q/P)

880 IF Q>0 THEN T<0 THEN T=T+PI ELSE T=T:GOTO 900

890 IF Q<0 THEN IF T>0 THEN T=T+PI ELSE T=3*PI1/2:GOTO 900
900 RETURN

910 IF L>1 THEN L=L-1:GOTO 910

920 E=TAN(2*PI *L):C=(1-G*E)*2+H*H*E*E: A=H*(1-G*E)++H*E*(G+E)
930 B=( 1-G*E)*(G+E)-H*H*E:R=A/C:X=B/C

940 RETURN

950 GOSUB 700:R=H:X=G:GOSUB 810:RETURN

955 DO =ATN(1/51)/2/P1:D01=D0+L:D02=-D0+L

960 IF DO1>.5 THEN DO1=D01-.5

963 IF DO1<0 THEN D01=D01+.5

695 IF D02>.5 THEN D02=D02-.5

968 IF D02<0 THEN D02=D02+.5:RETURN

970 LO=ATN(S2)/2/PI:L01=L0+.5:L02=-L0: GOSUB 710

975 IF LO1>.5 THEN LO1=L01-.5

978 IF LO1<0 THEN LO1=L01+.5

980 IF L02>.5 THEN L02=L02-.5

983 IF L02<0 THEN L02=L02+.5

985 PRINT”D11=";D01;” L11=";L01:PRINT

990 PRINT”D12=";D02;”L12=";L02:RETURN

1000 END
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